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Candidates are required to give answers in their own words as far

as practicable
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidate to
read the questions carefully.
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This question paper has two sections - Saction-A and Section-B.
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In Section-A, there are 60 objective type questions out of which it
Is compulsory to answer any 50 questions, each carrying 1 mark. If
more than 50 questions are answered, the first 50 answers will be
evaluated. Darken the appropriate circle with black/blue ball pen
against the correct option, for the objective question on OMR
Answer  Sheet provided to  you. Do not use
Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will
be invalid.
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In Section-B, there are 28 Short answer type questions (each
carrying 2 marks), out of which any 15 guestions are to be
answered. Apart from this, there are 8 Long answer type
questions, each carrying 5 marks, out-of which any 4 guestions

are to be answered.
fEHl V' & gelasie Suaver &1 war gofaar afife 2

Use of any electronic appliances is strictly prohibited.



wrg—3l / Section - A

q¥fss g9 / Objective Type Questions

gue WET 1 @ 60 dd @ ke g ® Ot dar faeen foy v € A 9
ve RAFer 98 2| aue g g A wE RAeer w1 OMR—3fie g fafea #v|
=gt 50 oAl 7 9o¢ ¢ | 50 uT 9 Affe ® 9w fau @ @ Refa § yem so
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Question No.- 1 to 60 have four options. out of which only one is
correct. You have to mark, your selected option, on the given OMR-Sheet.
Answer any 50 questions. If more than 50 questions are answered the first

50 answers will be evaluated. (50x1=50)

;! ey 1 @ frw srefaraven § Aol & il adwfRe &5 & gg-afitad

gl & 7
A. gofl are) B. {ATGAG]
C. fafare D. g8 | HIS 8

From the following which economy has a co-existence of private

and public sector ?

A. Capitalist B. Socialist
C. Mixed - D. None of these
2 afte sefars & st e 4 e seags fear s : ?
A. fadird gaTg B anfels vy
C. g 3y D. 98 @ &g A8l



Which of the following is studied under Micro Economics 7

A. Individual Unit

C. National Income

B.Economic Aggregate

D. None of these

sfefa ey ger e 9 fra @ wefta 2 7

A g-d

C. w9 ga4

Economic problem is basically related to which of the following ?

A. Choice

C. Firm's Selection

e 3 & BiF Aol awg A8 8 7

A. THaR

C. ¥

B. SuMleR 994

D 98 ¥ HIg A8

B. Consumer's Selection

D. None of these

B. wiEfda

D. 59 ¥ 94l

Which of the following is not a Private good?

A. Scooter
C. Rail

A SIS B 2

C. g o 2

B. Bicycle

D. All the above

D gd 9§ oAl gy

When Total Utility is maximum, What is Marginal Utility 7

A. Positive

C. Zero

B. Negative

D. All of these
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A, aifard awql B. sIRME® avl
C. faenfian avqy D. g9 ¥ ®Ig el

In which goods price fall does not make any increase in demand?

A. Necessary goods B. Comfort goods
C. Luxury goods - D. None of these

afe weu A 40 gfrwa oRadT & wowawy ffl avg @ AT 9 60
uferera aRad= &ren 8, o | @ dE e g 7

A. 05 = B

C. 1 Do

If a demand of a good changes by 60% due to 40% change in
price, what is the Elasticity of Demand?

A 05 B.— 15
o Do
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Which of the following is slope of the Price or Budget line?
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e B. - =
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Ak

3 de- u¥ Sudle fdba awgal @1 Arn ger g1 8 7

A e Pife &1 awd B. WA= gl
C. 3t A it B D. g1 & I 7€

With an increase in income consumer decreases the consumption
of which goods?

A. Inferior goods B. Normal goods

C.Both Aand B D. None of these

G130 D AR TR e B T e 2 M 1 8 B M T e =

AT @ Fma B. gafey gfy faam @

C. i @ ufwe 9 D. | &) &g ¥

Long Run Production function is related to which of the following ?

A. Law of Demand B. Law of Increasing Returns
C. Laws of Returns to scale D. Elasticity of Demand

TR & e fam e 9§ ele—wr 27

A HTT #1 Fram B, W= Jugifvar gy Aam

C. ¥udEa S9giiiar HaH D. SuHIEar &1 g4
From the following which is the first law of Gossen?

A. Law of Demand

B. Law of Diminishing Marginal Utility



C. Law of Equi-Marginal Utility
D. Consumer's Surplus

12 o 4 @ aTel & AT F B § 7

A EFTHS B FUTcAE
C. I D. g7 ¥ ®ig e

What is the value of the slope of demand curve ?

A. Positive B. Negative

C. Zero D. None of these

13. ATEUTE ST el @) e A # § g faw & g & S

27
A wi @& faH B. uftgdela srura & Haw
C. T & ufawe D. |0 & ol

Which of the following explains short Run Production Function?

A. Law of Demand

B. Law of Variable Proportions

C. Returns to scale

D. Elasticity of Demand



s aitga anrd e ¥ @ a e sitad @ d1 e A
fpu Rerfay o 21l 27
A. MC>AC B. MC=AC

C.MC =AC D. MC #AC

When Average Cost is decreasing what status Marginal Cost has
as compared to Average Cost?

B. MC>AC B. MC=AC
C.MC =AC D. MC # AC

15. S g P A 4 dE 2 ?

ATR g 1B

B AQ (o -

C. AR D. g8 ¥ ®Ig A4l
Q

Which of the following is Marginal Revenue?

ATR TR
B B
AQ Q
C. —ER D. None of these
16. afpas o 9 Wwa (sufficient) o w4 g7

A THEal & fdg W MC gedl 28 2F1 Tifeu |

B. W & ffg 7 MC Tedl g8 &) aifee |

C. Wrar oTa Y@ W ST X B S0 B
D. 1 ¥ &g el

What is the sufficient condition for Profit Maximisation?

8



17.

18.

19.

A. At the point of equilibrium MC should be rising
B. At the point of equilibrium MC should be falling
C. MC curve must cut MR from above.

D. None of these

fper T 3 avg fete g S 87

A. & afagif B. yoi uferanfaren
C. UHIsR D. usifersn wlierniaen

In which market Product Differentiation is found ?

A. Pure Competition B. Monopolistic Competition

C. Monopoly D. Monopolistic Competition

T Sucerar Mae Rigia @ afoes i 8 7

A vfa= B. amed 949
C. faa D. g1 & ®Ig 8]

Who propounded Food Availability Decline theory?

A. Robbins B. Amartya Sen
C. Hicks D. None of these
P d g wid $H 8 7

A, 3mg B. Fam



20.
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22,

C. Iy D. &

Which of the following is stock ?

A. Income B. Investment
C. Consumption D. Wealth
JAER AN B dwfeus A9 =1 Be

A anfdies e B. wdels el
C. A &rrd D. 3irea anrd

The alternative name of Opportunity cost is

A. Economic Cost B. Equilibrium Price

C. Marginal Cost D. Average Cost

off & e @1 Prreae # Fie—ar e gafia e 27

A S=f(P) B.S=f(1/P)
C.8=f(Q) D. 9% ¥ ®Ig Tl

Which of the following function shows the law of supply?
A.S=f(P) B.S =f(1/P)
C.S5=1(Q) D. None of these
v ufaartar @ F=faiaa 4 sE— Agar 27

A. faddiea ScareA B. fasmy @i

10
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25

C. 9I6TR &1 3ol §I74 D. gudfad et

Which is the feature of Monopolistic Competition?

A. Differentiated Product

B. Selling Cost

C. Imperfect Knowledge of the market

D. All of the above

yof wfeaifirar araR | f5ei & @1 71 96 B bR Byl Eldl @ 7
A X — 38 & AT B. y — & & WHAR

C. smyarsr sfauzaay D 299 9§ &g T

What is the slope of demand curve of a firm in perfect
competition?

A. Parallel to x-axis B. Parallel to y-axis
C. Rectangular Hyperbola D. None of these

deerdl 9% &1 S[@rd & gidl g 7

A gl 9§ ad B. ari ¥ g1

C. gFi A 3R B D. 374 9 ®IE 78
What is the direction of slope of Indifference curve?

A. From right to left B. From left to right
C. Both Aand B D. None of these
"I § Hee ®a gl g ?
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27.

A. ®Ha ggal & silv 7 gedl 8

B. @tad @adl 2 afte Wi off gl &1
C. e R vadl & o = wedl 2|
D. &1 gedt 8 3k 7 Rer @l |
Contraction in demand occurs when?
A. Price rises and Demand falls

B. Price rises and Demand also rises

C. Price remains stable and Demand falls

D. Price falls but Demand remains stable.

qefrae a3 A el dar wfmfera g ?

A, T B. fanfor
C. ¥ar D. ugrure

Which service is included in Tertiary Sector?

A. Mining B. Construction
C. Communication D. Animal Husbandry

WEF ATd U gF IS IeUie B 71 BT S 27
A T 3T B. i&d Faw
C. ©I¥e] 31 D. 3 9 &g 981 |

What is Net National Income at Factor Cost called?

12
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29.

A. National Income B. Gross Investment
C. Domestic Income D. None of these

Rerw #ra u Ty ST B T T E 2

A, FFEE R 3T B. arsifa® iy an
C. GNP zmawnifas D. 3799 9 @®IE Al
Which term is used for National Income at constant price?

A. Nominal National Income B. Real National Income
C. GNP Deflator D. None of these

Uiy e H e A | e aftafaa e s @ 7

A. BRI YT

B. o uve give &1 g & uret wfdy
C. el |9 ¥ e a1y

D. g5 @ &I et

Which is included in National Income?

A. Transfer Earnings
B. Sale proceeds of shares and bonds
C. Black Money

D. None of these
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w5 i

udh ol gy # fRdl <o A foat ot aifdm avgai s Qaen &1 gares

g1 &, SUd N Jou & & Hed § 7

A Tohe ALY IAE B. 3rdig 3y
C. o ©¥e IUg D. 3& Wtg 3aig

What is the market value of all final goods and services produced
in an economy over a year called?

A. Gross National Product B. National Income
C. Gross Domestic Product D. Net National Product

Ity gty g &1 o e H ey o e g e

A FTaT B. 9 oIl
C. 99k $I9d 3R [EE dqnTd gl oY D &8 ¥ &g A8)

National Disposable Income is calculated at which of the
following?

A. Market Price B. Factor Cost

C. Both Market Price and Factor Cost D. None of these

15 = I e

A Bcd fagd B. #1¢
C. &y D. #Tg

“Money is what money does” Who said it 7

A. Hartley Withers B. Hawtrey

14
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34.

35

C. Thomas D. Keynes

WRg VT frr # @ &9 87

cin B. &a (Cash) x (_éﬁ
C. #ie (Cash) x CRR D. g4 ¥ ®Ig 98l
Which of the following is Credit Multiplier ?
A. CéH B. Cash xcéﬁ
C. Cash xCRR D. None of these
et A gomel! & wRed P 8 7
A. frord do offe gfem B. e d& 3 sfeul
C. gfre g¥e siiw gfew D, 9y Sfig= i
Who is the custodian of Indian Banking system ?
A. Reserve Bank of India B. State Bank of India

C. Unit Trust of India D. LIC of India
g mftrdi & gues Efafed § 19 8 7
A T O | _| =] B I!- _':'!:-'_,- 1:1.1_::!;.“‘_]

C. T A 3R

o
o
|

I:’.I
.

From the following which is the component of Budget Receipt ?

A. Revenue Receipt B. Capital Receipt

C.Both Aand B D. None of these



36.

3T

38.

39,

famraefial sl & forw sl—ar gwe a9 guygdd giar & °

A. H91¢ ®T dule B wdferd auic

C. gad & gule D. g8 | W)

Which of the following Budget is suitable for developing countries?

A. Deficit Budget B. Balanced Budget
C. Surplus Budget D. All the above

s § & &9 g g 2 7

A. 3T T B. ¥ufg @v
C. ITIE b D. SUER &Y

Which of the following is Indirect Tax ?

A. Income Tax B. Wealth Tax

C. Excise Duty D. Gift Tax

s § 9 @19 worelg gre | &M el Wl 87

A srgepifasE gag B. wrifarsrT <91
C i A alv B D. g% @ &g T8

From the following which is the danger of Fiscal Deficit?

A. Deflationary Pressure B. Inflationary Pressure

C. Both A and B D. None of these

‘goic’ e Amar &1 9 27
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41.

42,

A wfes B. o+

C. w3 D, g4 9 ®1¢ 98
Budget is a word of which language?
A. Latin B. German

C. French D. None of these

are], Wrd @ Frerferfiaa § - 08 & 2

A. 30 H&T @1 AT B. wde®dl &1 wd
C. g=u Hal &1 fyafg D. Sugfas wft

From the following which is the item of Current Account ?

A. Import of visible items B. Expenses of Tourists
C. Export of Visible items D. All the above

YA 99 B HEH B 8 ?

A. dTe], Qe B. guil w@rar

Which is the component of Balance of Payment?

A. Current Account B. Capital Account
C. Both A and B D. None of these
FefeRad 7 31 o5 avafs g & 2

A. IR G| B. !l Gl wdia
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44,

45.

C. |wa=1 &1 v D. d& | o wrer Wi

Which of the following is a Real Investment?
A. Purchasing of a share

B. B. Purchasing of Old factory
C. Construction of Building
D. Opening deposit account in the bank.

e gt uafy e § 9 @ 7

AY B AC
AC AY

Al D. 95 ¥ &Iy ¢
Al

Which of the following is Marginal Propensity to Consume?

A AY B AC
AC AY

B 8 D. None of these
Al

Fraer qures Rigra & sragroen e <7

A HI B. @&
C. 8= D wela

Who gave the concept of Investment Multiplier?

A. Keynes B. Kahn
C. Hansen D. Marshall

‘NS 7T S B B B PRUE 7
A ardafyE @ 4 giE B. a1 # yff A gfs

18
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47.

C. &% H &4 D. Sugae i
Which of the following is the cause of “Excess Demand”?
A. Increase in Public Expenditure

B. Increase in Money supply

C. Fall in Taxes

D. All the above

geR AR wfRfa @ e fea ad gar?
A. 1978 B. 1991
C. 1997 D. 1998

In which year the second Narsimham Committee was constituted 7

A. 1978 B. 1991

C. 1997 D 1998

Rrad IR WAl @ Jrges #1 dF s g &7
A JEca+ B #Arsa

C. AT D. g4 ¥ &€ T8

According to whom there are three main problems of allocation of
resources 7

A. Robertson B. Marshall

C. Samuelson D. None of these

18



48, gufl wie @1 gfg Fa1 FeEam 87

A. gSl BT B. guil @
C. Yol fmfor D. &4 ¥ &g e

What is known as increase in stock of capital ?

A. Capital loss B. Capital profit
C. Capital formation D. None of these

49, frer o @ fp ORow 9 @) ¢ U aifvam gl dEdrd ¢ ?

A. STEIEAT B Ggfte B B. W # a9 &g
C. HT A 3l B D. g5 § &g 181

For which of the following purposes goods purchased are called

final goods?
B. For satisfaction of wants B. For investment in firm
C.Both Aand B D. None of these

50. waa afdie gfy &1 gae o 8 ?

A. GNP argeunifdas B. GDP
C. g*a GNP D. NNP

What indicates Sustainable Economic Growth ?

A. GNP Deflator B. GDP

C. Green GNP D. NNP

20



gt & wa M1 4 @ wfie 8 7

A. C = ol & U H]

B. DD = d&i & &R Y& AT S

C. OD = Rud d& & U =9 oAl

D. sudfaa Wi

\What does Measure of Money M1 include?
A C= Currency held by public

B DD = Net Demand Deposit of the bank
C. OD = Other Deposits held with the RBI
D. All the above

52.  ATM @1 qof 9 @1 & ?
A. Tl TIEH A B. 3fiel e1gd HAl
C. AeHcs coe "I D. g A 3R B

The full form of ATM is -

C. Any Time Money B. All Time Money
C. Automated Teller Machine D. Both Aand B

53 “Traited Economic Politique™ @ J&i® & odd Bl &7
A. L B. siodiodo
C. &I D, Raref

21
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55,

Who is the writer of the book ‘Traited Economic Politique'?
A. Pigou B. J. B. Say
C. Keynes D. Ricardo

B 3 aiefegaven § < A ) AW Pl HE AW G IR © 7

A. QUi TSR S B. =IA IR e[
C. SFi A 3R B D. &4 ¥ ®ig el

Keynes has called the state of deficient demand in the economy

as?

A. Full Employment Equilibrium

B. Under Employment Equilibrium

C. Both Aand B

D. None of these

frg Rafd o gwf difcs N sl ol 8 2

A=A | @1 Refd B aifths & 3t Refd
CTFTASRB D. 8 € &Iz 2

In which situation Cheap Money Policy is adopted 7

A In the Situation of Deficient Demand

B. In the situation of Excess Demand

22



C.Both Aand B

D. None of these

66,  SIHBMY S B YId B B 7
A. gFTETE TIIEG HIeT B. vNedd wieifde =
ks I Ui fires =1E] £ g.|£|' q Tﬁ[:\{' el

What is the indicator of Fiscal Discipline ?

A. Positive Primary Deficit B. Negative Primary Deificit
C. Zero Primary Deficit

D. None of these

57 O & ol AR @ fore el aRgwfy @1 g 8 e & A Be

A. I @ B. yullrd @
C. g1 A 3T B D & ¥ Bls e

What is the expenditures which do not create assets for the

government called?

A. Revenue Expenditure B. Capital Expenditure
C. Both A and B D. None of these
58, e ged YOIl @ WHE S Zoff o @y ey ?
A. Rer faffma &3 B. siftraiferd (rs) fafsa =R

23



C. eFf A 3R B D. 398 9§ ®Ig 2]

Which system prevailed in most countries during Bretton Woods

System?
A. Fixed Exchange Rate B. Pegged Exchange Rate
C. Both A and B D. None of these

59,  ATUR Heerd @1 ief @ €T B 7

A. Toft @1 e B. awqail T amagr qg [l
C. {ot dfee sud efie D. &1 9 ¥l

What is the meaning of Balance of Trade?.

C. Capital Transactions B. Import & Export of goods
C. Total Cedit and Debit D. All of the above

60. ol @R B dF-an fbw ®9 # B & 7
A. HaE B. i&

C.aHI A 3R B D &8 o 3¢ A8

Capital Account Transaction is -

A.Flow B. Stock

C. Both Aand B D. None of these

24




wvg—4 / Section-B

tv—geafiss ug / Non-Objective Type Questions

@ godla ust / Short Answer Type Questions

qo G 1§ 28 b oy S #1 g & e 15 uwEl & SR d 1 WS 9

& frv 2 o Mt &) s W1 40 F 50 T B | (15x2=30)

Question no. 1 to 28 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. Word limit is 40-50 words. (15x2=30)

=~

v Fefaraver @ W TR 87 2
What are the main problems of an economy?

ITEHT ST T AR DI FHASMEY | 2
Explain the concept of Opportunity Cost.

i syaifar g o g g ? 2
What is Law of Diminishing Marginal Utility?

gole Yl Fa7 8 .
\What is Budget line ?

T @ yfate’ U wmH & ufamer # @ur iR € ? 2
What is the difference between ‘Returns to Scale’ and ‘Returns to

a factor'?

Gﬂ'ﬂﬂ IRGERELE HHAE AFTd d Had W Hﬁﬁfﬂ;” 2
Explain the relationship between Average Cost and Marginal Cost.
off s~ vd gftf 9@ @ 39 @ wH E ? 2

25



What do you mean by ‘Supply Schedule’ and ‘Supply Curve'?

8. Ot @ra e yaw @y B 2 o 2
What are different types of Supply Elasticity?

g, UHISR 9§ g Fr gweg & 2 2
What do you mean by Monopoly?

10 qISIR B 3R GHR a9 3 Y4 B THIRY | 2
Explain the relation between Market Price and Normal Price.

1. T w1 27 5

What is Rent ?
12 & ufwgt HOTeNT <R fAuiRe st & 2

What forces determine wage rate ?

13, TR @M W Y Wy Seure sk W s W g I Iere
H @ e 27 2
What is the difference between Net National Product at market
price (NNPy;») and Net National Product at factor cost (NNPee)?

14, SR 3 & HOe ol e gfg fafy & 2 2 2
What is value Added Method of measurement of National Income?

15 SUHAT ol &1 gfearine BT |

Define Consumption Function.
16. ol I ve 3l VTR T H 3% BT qaqgy | 2

26



Differentiate between Full Employment and Under Employment

Equilibrium.

17. H&l & g% Hrl B Good B | 2

State the main functions of Money.

18. grifies G Ud efedw] O H T e 87 2
What is the relationship between Primary Deposit and Derived
Deposit ?

19.  wrfaeiie iR uformt & # afaw gy | 2
Distinguish between Progressive and Regressive taxes.

20, YN 9ule § feEl am agedl &l ford | 2
Write any four objectives of government Budget.

21, qed fafma gx w g ? 2
What is equilibrium Rate of Exchange ?

22 WhHIfad 3R srgenifie siavra § afen wee @ | 7
Distinguish between Inflationary and Deflationary gap.

23.  ¥mid gftvenus ge a2 7 2
What is Marginal Rate of Substitution ?

24. e W IT9Ie | 39 747 993d & 2

What do you mean by Gross National Product (GNP) ? -
25.  Wifew A B T e 87 2

What is meant by Monetary Policy?

27



26, g @1 afenfda &9 9

Define Deflation.
27. airga gwre s Wi SdTe § O HEd W &Y | 2

Mention the relationship between Average Product and Marginal

Product.
28 Hifye woedl vd anafae F9gd # g qorgd | 2

Distinguish between Money Wage and Real Wage.

el gafla usd / Long Answer Type Questions

uo ERE 20 ¥ 36 @ ard Iady U €1 39 B & e ¥ & [ 5 b

Frerffa & FFst 4 weell & Tam & | weg WD 100120 9I& & |(4x5=20)

Question no. 29 to 36 are Long answer type questions. Each question
carries 5 marks. Answer any 4 questions. Word limit is 100-120 words.

(4x5=20)

29, qi7 &1 fem g 27w Fem B O seant ford |
What is Law of Demand? Write any three assumptions of this law.
Explain the relationship between Total Revenue, Marginal

Revenue and Average Revenue.

ITI

31, P @ wewar ¥ of afteifiar aeR 7 GqeE qed @ R
P |
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32

Gl
G

34

o0

36.

Show with the help of diagram, determination of equilibrium price

under perfect competition.

AT STy B WO B =y Al & wHsngy |

Explain Expenditure method of calculating National Income.
v arfaE @GR 9 Shife JERS S ARl 6|

Explain the concept of Inflationary gap with the help of a diagram.

2TaaIE 95 & A= orgl o1 Soord & |
Explain the Various functions of Commercial Banks

ey Tords der JHTHT ST yafer 3 Hae e B |

Explain the relationship between Investment Multiplier and
Marginal Propensity to Consume.

Fedry d & el € AT g s [(E e geis @it |

Describe any two quantitative methods of Credit Control of Central

Bank.





